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Overall performance on exam 3 seems strong.  The scale is points towards course

total = raw score - 1.

Points for the three attendance/class participations:  1 =1 pt, 2 = 3 pt, 3 = 6

pt.

Your assignment for this week is chapter 8 sections one through 4, except not

the pooled t-test (pg. 343).

Homework:

8-1, 8-3, 8-5, 8-8.  Show your calculated sd of dBAR and how you get your test

statistic and z0 or pSIG.

8-9, 8-12, 8-14.  Show your estimate for sd of xBAR - yBAR and how you get your

test statistic and z0 or pSIG.

8-30, 8-32, 8-38.  Show your estimate for sd of p1HAT - p2HAT and how you get

your test statistic and z0 or pSIG.

Also, Quote an election poll result of your choice for the coming election

(include the source).  Explain its meaning in our terms (probably it is a CI or

estimate with a margin of error if so what kind, and do you know what the

sampling method is?).  Quote the election result for the race or issue of the

poll.  Was the final vote in favor within the CI of the poll?
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Scale for exam 3:  Subtract one from your raw score.  This is the number of

points your exam 3 will contribute to your course total.  Be reminded that if

this should equal 90% of 23 you would have earned the equivalent of 4.0 (more

if your exam 3 score is larger).

Apart from the above:  Students who participated in the two lecture activities

and the third which was only an attendance signing will have earned 

          number of participations       0       1         2          3

points towards the course total       0       1         3          6

There will be no attendance the Wednesday just prior to Thanksgiving.

For tests pertaining to p1 - p2 we will observe the conventions of expressions

(8-11) (8-12) (8-13).  Pay particular attention to pooling which will be used

for the case of a test involving p1-p2 = 0.

For tests pertaining to mu1-mu2 we will not cover all the different cases of

t-tests.  We do NOT cover expressions (8-5) (8-6) ((8-7) and (8-8) will only be

used for z-test case).  So too for CI (in particular (8-10) will not be

covered).
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